b Aol [

£ 7o

A

il
&

ofr

Ale.

[$]

e = A

~5ecm-”

~

D( cm?)

DXG

A o] 2ylel)

oF

Lo

Z

(

25

Blo]) x6

(B&BA ) Ayol) = (3 Be

(5% 5)x 6 =25x6=150( cm?)




2.

Y CEEEECNEY

A

!
!
1
1
|
6cm
|
\
\ ]
\ 7 3cm
“~4cm-”
b ot cm?
> He 2em®
7R 5 Zof 4x3 = 12 7|4 6 20| B& BT 72 Alo| 1,
Eul= 72 cm? Yyt




o
=
ol et We AAL.

i

\VARR 4
X
i
i
o)

(H=mA o] £3])= (7F2)x (A 2)x(3=e]) AU




T "9

1 216 cm?

2~
T

~7Tem ”
o]

~

o
sl

9(cm)

(54+7+5+7)x[_|=216

24x[ |=216
[]




154

thg3t go

ille

® @A
® @t
® BF gHUL,

AAZAA 27} 1 2

@ @
@ @4
D) 4 g,

@ 72, A=, Bl
QL.

Z¥7Z¢ v

=

=

I

wafo] A Rulg v)ng

6‘1—




(A= =9 F1)
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